#include<conio.h>

#include<fstream.h>

#include<dos.h>

void main()

{int x1=25,x2=x1+30,y1=7,y2=y1+12,i;

int xm=2,ym=2,xM=79,yM=24;

char znak='x',c,cc;

_setcursortype(0);

do{

clrscr();

for(i=x1;i<=x2;i+=2)

{gotoxy(i,y1);cout<<znak;

gotoxy(i,y2);cout<<znak;}

for(i=y1;i<=y2;i++)

{gotoxy(x1,i);cout<<znak;

gotoxy(x2,i);cout<<znak;}

c=getch();

switch(c)

{case'+':

x1--;y1--;

x2++;y2++;break;

case'-':

x1++;y1++;

x2--;y2--;break;

case 0:cc=getch();

switch(cc)

{case 72: y1--;y2--; break;

case 80: y1++;y2++; break;

case 75: x1--;x2--; break;

case 77: x1++;x2++; break;

case 71: x1--;y1--;x2--;y2--;break;

case 73: x1++;y1--;x2++;y2--;break;

case 79: x1--;y1++;x2--;y2++;break;

case 81: x1++;y1++;x2++;y2++;break;

}

if(x1<xm){sound(300);delay(100);nosound();x1++;x2++;}

if(x2>xM){sound(300);delay(100);nosound();x2--;x1--;}

if(y1<ym){sound(400);delay(100);nosound();y1++;y2++;}

if(y2>yM){sound(400);delay(100);nosound();y2--;y1--;}

break;}

if(c=='+'&&(x1<xm||x2>xM||y1<ym||y2>yM))

{x1++,y1++;x2--;y2--;}

if(c=='-'&&(x1>=x2-2||y1>=y2-2))

{x1--;y1--;x2++;y2++;}

}

while(c!=27);}
